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Class 9
Sub: Biology. Worksheet 1
Answer the following questions:
Ques 1: Differentiate between the following:
a) Aerobic and anaerobic respiration
b) Respiration and Burning
c) Respiration and Photosynthesis
d) Hypogeal and Epigeal germination
Ques 2: State the function of following:
a) Soda lime or KOH
b) Lime water
c) pyrogallic acid
d) carboxylic acid
Ques 3: Give reason why :
a) one should not sleep under a tree at night?
b) Dead seeds are used in one flask experiments based on respiration?
c) experiment is carried out in dark to check respiration?
Ques 4 State wether the statements are true or false :
a) Aerobic respiration releases 38 ATP energy
b) Light energy is released during respiration.
c¢) End product in anaerobic respiration in plants is lactic acid.

d) Lime water absorbs carbon dioxide.
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St. Joseph's High School
Mandi Dabwali.
Revision Worksheet
Class-IX Date-21/7/23 Subject:English-ll
Teacher:Miss Aarti

Oliver Asks for More

Q.Answer the following questions:

1.What main differences do you notice between the children and the
master? (Observe the physical appearances, dress, behaviour, etc.) What
can you infer from these differences?

2.How were the children fed in the workhouse?

3.How did the master react to the request of Oliver?

4. What did Mr. Bumble ultimately decide to do with Oliver?

5.1s the title of the story appropriate?Express your views.



St. Joseph's High School

Mandi Dabwali.
Revision Worksheet
Class-IX Date-21/7/23 Subject:English-I
Topic:Agreement of Verb with Subject Teacher:Miss Aarti
Q1.Tick the correct form of the verb that agrees with the subject in the following

sentences:

1.

2.

9.

One of my friends (has/have) gone to France.

Each of the boys (were /was) given a present.

Neither of the contestants (was/were) able to win a decisive victory.

Oil and water (do/does) not mix.

He and | (were/was) at Oxford together.

Slow and steady (win/wins) the race.

Neither Peter nor James (has/have) any right to the property.

No prize or medal (was/were) given to the boy, though he stood first in the examination.

Either Mary or Alice (is/are) responsible for this.

10. Neither the Minister nor his colleagues (were/was) present.

Active -Passive
Q2.Change the following sentences in passive voice:

1.1 watch television every night.

2.She is feeding the poor.

3.Take medicine on time.

4.Are you taking the exam?

5.The Indian Army will have pushed back the Chinese Army by then.
6.Shut the door.

7.Your boss will question you.

8.Who likes her?

9.Such an accident had been predicted by a pilot.(Change to active voice)
10.All the questions were correctly answered by Parul.(Change to active
voice)
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ST. Joseph’s High School
Worksheet-1
Subject- Physics Standard- IX
Note: Solve these questions on your fair notebook

1. What are the advantages of using mercury in simple barometer?
2. How Fortin barometer is better than simple barometer?
3. What signifies on the barometer that it may be possibility of 1) heavy rain and storm

2) Hot dry weather

3) weather will remain same
4. Give significance of altimeter.
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